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QUESTION 1

When creating a FlexVol, what is the effect of setting the Space Guarantee option to NONE?
A. Quotas cannot be set in the volume.

B. The volume will not be created until it needs to be accessed for the first time.

C. The storage space for the volume will be allocated when the volume is created.

D. The storage space for the volume will be allocated as data are written to the volume.

Correct Answer: D

QUESTION 2

A customer has implemented their Oracle database over iSCSI but has found that iSCSI can no longer provide the

necessary throughput. Which method should be used to present the database over FCP?
A. remap the LUNs to FCP

B. useSnapVault to restore the database to a new FCP LUN

C. useSnapRestore to restore the database to a new FCP LUN

D. migrate theiSCSI LUN to an FCP LUN

Correct Answer: A

QUESTION 3

ReplicatorXis a ____ disaster recovery solution based on ______ replication technology.
A. heterogeneous asynchronous

B. heterogeneous synchronous

C. homogeneous asynchronous

D. homogeneous synchronous

Correct Answer: A

QUESTION 4
Which two statements are true about FlexClone and LUN clone? (Choose two.)

A. FlexClone requires a FlexClone license.
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B. LUN clone requires a LUN clone license.
C. FlexClone is free.
D. LUN clone is free.

Correct Answer: AD

QUESTION 5

Snapshot schedules can be defined within Data ONTAP for which three time intervals? (Choose three.)
A. hour

B. day

C. week

D. month

E. minute

Correct Answer. ABC
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